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Electric dipole

_l_ q Vector with magnitude p =qd
) and direction from negative to positive charge
® Ideally: each is a point charge, and d is very small.
B q In practice, charges could be extended.

Then you would calculate the direction

vector from one center of charge to another.

Electric field due to collection of charges

— M Electric field at point M?
/ Electric field at point N?.
>

Electric field at point M? Calculate Field due to EACH charge at M. Lucky they all have

only x-components. Use vector addition.

Electric field at point N? Calculate field due to EACH charge at N. Not so lucky now.

Use vector addition.
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